



Date Selected: Group(s):		03/10/20 ⁻	18								
		Teagasc	Teagasc Heavy Soils Programme								
Farm	Cover Date	Farm Cover (kg DM/ha)	Cover/L U (kg DM/LU)	Stocking Rate (LU/ha)	Growth/ha (kg DM /ha/day)	Demand/ha (kg DM /ha/day)	Rotation Length Now(day s)	Rotation Length Back (days)	Grass Allocati on / LU (kg	Grass Intake/Co w (kg DM/cow)	Meal Intake (kg/cow)
Ballygree	30/09/2018	814	334	2.44	91	34	25	32	14.1	13.0	5.0
Doonbeg	02/10/2018	910	313	2.91	48	47	30	39	16.3	16.2	3.8
Stradone	30/09/2018	753	294	2.56	35	33	40	48	13.0	13.0	4.0
Lisselton	25/09/2018	722	257	2.81	43	34	30	33	12.0	12.0	6.0
Athea	01/10/2018	685	246	2.79	42	31	30	46	11.0	11.0	6.0
	26/09/2018	818	350	2.34	50	33	32	28	14.0	14.0	3.0

Milk Summary:

Farm	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow
Ballygree	30/09	13.44	4.3	3.89	1.13
Doonbeg	30/09	17.72	4.93	4.13	1.65





Date Selected: Group(s):	03/10/201 Teagasc H	8 Heavy Soils	Programme	e	
Athea	29/09	18.44	4.46	3.98	1.60
Kiskeam	01/10	15.8	4.73	4.21	1.45
Average		16.35	4.57	4.01	1.46





Exported on 03/10/2018

Date Selected:	03/10/2018
Group(s):	Teagasc Heavy Soils Programme

Milk Summary:

Farm	Cover Date	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow
Ballygree	30/09/2018	30/09	13.44	4.3	3.89	1.13
Doonbeg	02/10/2018	30/09	17.72	4.93	4.13	1.65
Athea	01/10/2018	29/09	18.44	4.46	3.98	1.60
Kiskeam	26/09/2018	01/10	15.8	4.73	4.21	1.45
Rossmore	23/09/2018	22/09	20.29	4.63	3.83	1.77
Average			20.41	4.57	4.(01 1.79





Date Selected:	03/10/2018
Group(s):	Teagasc Heavy Soils Programme

Fertiliser Summary:

Farm	Cover Date	Last Fertiliser Date	kg of N/ha	N Area%
Ballygree	30/09/2018	29/09	32	90
Danny Bermingham -	02/10/2018	27/09	30	76
David Brady - Tierlahood	30/09/2018			
Donal and Michael Keane	25/09/2018			
John Leahy	01/10/2018	27/09	34	70
Sean O'Riordan	26/09/2018	30/09	50	51
Tom and TJ Ryan	23/09/2018			
Average			37	71.75

13.44	13.44	#
17.72	17.72	#
18.44	18.44	#
15.8	15.8	#
20.29		#

Exported on 03/10/2018

1.13	
1.65	
1.60	
1.45	